H & 0l & AHS B Ml A

20248 =0ila eS| THE 1t

SH: WED
Hu: UFHASE

ool NUEES (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
THE 5,939,901 9,541,626 A3,601,725
= 119,887
Al 5,820,014
A=MHE &S 768,608 700,855 67,753
= 119,887
Al 648,721
ANSHE =S 768,608 700,855 67,753
= 119,887
Al 648,721
INEIN S 321,631 266,349 55,282
201 er23 | 218,064 233,064 A15,000
01 At2teltl 66,580 81,580 15,000
OXIZAl DRA HZ
72,0002 x4002f A 28,800
OXgAl 21t 82 &0 & &2t JH 7,025
ONSLA &3 T2y EH & &4 ARF
- 4,000,000 4,000
OXIZNIRet LEet=2H| 2,000,000& 2,000
o=l 4,275
Od= MEel &0t el =M= 2
200,000 *41H 8,200
OXIZAl DDl A2F wH
1,600,000& #52 8,000
OXlgN E22 M= 220 10,0000 2,200
Oo=2g=¢g 2,080
KAl 2223
70,0003 » 12 %22 1,680
H0Dtk= OISMRA 238
100,000& 22 »23] 400
02 S3=4gHl 151,484 151,484 0
OXIZAl DXAN S2REE 140,000
OXIZAl DEZRIE |2t
1,446,000 *4=2 7| 5,784
OXNZASH X &1 ZME E8Y £X 5,700
202 04| 15,130 15,130
01 =LHA LI 15,130 15,130
ONg2e SSAMT
40,0002 x102 * 162 6,400
OZA=& Od 3,700
OXZAH &8s & Tl NREZA
40,0003 x2& =35 2,800
Od= Mgl etitsS el FIHo|
30,0003 *41 1,230
OXgASH Sl SF 04| 1,000
203 =4l 3,000 3,000 0




SH: WED
Ha: NEREE
ool XILTHE S

L= LR
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 A=A RN 3,000 3,000 0
ONELRAIZ=Z 3,000
303 Z&a= 8,200 0 8,200
01 &= 8,200 0 8,200
OXNZHME SN SHS gt 2o 8,200
306 EX= 6,172 5,954 218
01 £g= 6,172 5,954 218
OXIgAl 17 EHS(E=XSMNSRH) 6,172
308 XtXIEMSO0IH 71,065 3,532 67,533
18 SISOt 4 A AS A 71,065 3,532 67,533
OXEAl F23tAre ST 71,085
S[I=PNECY PSEs 42,268 52,148 29,880
201 er=23| 35,268 44,048 A\8,780
01 AtR2te|Hl 13,804 13,804 0
OXIZAl MEX Ml 5,000
OXgA HEN S8HAHBEXS ASE 500
OJMf Az =2 6,000
Or==1:] 8,0003 x4+ +62 2,304
2 s5=34l 21,464 30,244 A8,780
OXIZAl AIAE FX 2= 8,930
- KAl ARS ZHEERAIAE S22 8,930
OBsE ALY B2 12,534
- ANSEHE HSE ALY S22+
Bl 6,436
CHXAAE D RAE==H| 5,618
-2 MHESIAMBIA SHRs
40,0003 * 122 480
202 04| 7,000 7,000
01 =LHO LI 7,000 7,000
OXgA 225 2HES 7,000
Nel==2d2el 99,070 77,119 21,951
101 @124H| 5,015 10,299 Ab,284
MU ORINZENSES 5,015 10,299 Nb,284
OM2= Meggs 8% Bx 5,015
Jl2s 78,8803 x 1 »52& 4,102
-rasded 78,880 x1H+5 3%
40 282 4,497,000 *11.5% 518
201 er23| 25,674 25,674
01 At2teltl 18,520 18,520
OAMIel=g2te| eit+=SH| 1,200
OAM2I+=& MEX MSEE X3 3,960
ONe+=g 28t dXNX2eIANAE 2 6.710




2A:
X XH -
o e

=aak

SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONe+& M dAe= 1,130
OANI2I+=& XA HIZ
72,0002 %358 A 2,520
oz 3,000
° ZZ2H| 7,154 7,154 0
OMI2I+2 DUA 2B
4303 *3,40024+32] 4,386
ORbiY XD 23
2053 %4,50021 %33 2,768
202 04| 5,890 5,890
01 2K 5,890 5,890
OAM2I+g Mgds 2HEH 3,890
Od+=d 2AEH & M2+ HE3 2,000
301 EtE NS 12,000 12,000
14 IIEt2 83 12,000 12,000
OMISI==2 Al B2 GHIE &S (AR 12,000
303 Z&a=s 12,000 12,000
01 o= 12,000 12,000
OM2I+g SEEIt 2+ 2A & RS Al
o 4,000
ON2 =g AIM S2 Xt NS (SRY) 8,000
308 XtXIEMSO0IH 38,491 36,256 3,235
18 SIS0t 4 A AS At 38,491 36,256 3,235
OXAIU NI EE2AAE Sl ] 38,491
HE =B AL 121,073 122,871 N1,798
101 @12A4H| 29,233 31,031 A1,798
04 JIZtN2 2N S+ 29,233 31,031 A1,798
OINEFEIA AL 29,233
Jl2s 78,8803 x8H 60 #5(0% 18,932
-ErEsdsd 78,8803 x8H x 13 #5(0% 4,102
AU 2E 23,034,000 *11.5% 2,649
A2l
9,860 8 x10AI ZH3IH E x150% 3,550
201 et 3| 90,400 90,400
01 AtR2te|Hl 90,400 90,400
OMEFEIA a5++2(1.1/6.171F) 69,890
SN HE
5,820&%21,500= * 110%+50% 68,822
SANE &S 7,275 x100S*110%+50% 401
Ol2dld AHS 24,2503 *50= *110%+50% 667
OFHEEXA & SHZISNE 423
- 65,0003 »402} A 2,600
O==2H &3 ¢ 200,000 +58 1,000




A THE
2 A= EE

o I|‘E’:*XH§§:*§ (CH9: &S1)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OE2H THEX(8) 7
53,0002 *602 3,180
OMBFEIN2 AF BTN X2
40,0002 %202 A 800
OMSEZSIIHTAL 40t U QU2 FIA 3,450
=0t 60,000 x2301*22] 2,760
Q2 15,0002 +2304%23] 690
OSSN IABASY 2H L
100, 00021 +82*23] 1,600
OMgZ=EIIH ZAR D=t
200,000 *4H 800
O=2t| 8,000& x4 100 3,200
OJg=8 88 T2 R EH|
150,000 128 1,800
OMEFEIATAL AIR A H2HI(ER)
1,300 *202| B *80! 2,080
202 Ot 1,440 1,440
01 =WO4bI 1,440 1,440
ONE=HEHL SRIZAL
20,000 x4 18 1,440
IHEFEIIATANEE) 184,566 182,368 2,198
= 119,887
Al 64,679
101 2124l 105,544 103,346 2,198
= 40,865
Al 64,679
03 SRA(RINHL) 222+ 79,985 77,130 2,855
Os&H Jl23(2¥) 52,097
s3
(2,163,25021x 19 %102 )+(2, 174,360 » 1 H+2&
) 25,982
852
(2,174,3602x 1 *10& ) +(2, 185,490& » 1 »2&
) 26,115
(OFSI=sal=
(648,9703x1F 23] )+(761,0202 x 12 +23] ) 2,820
= 2,820
OZAZ Al 140,000& 2B+ 122 3,360
= 3,360
Otielgt =l 40,0002 2+ 12& 960
= 90
OBEX0I3
(1,297, 9502 * 12 *23] )+(1,304,6 102 x 12 %25 )
5,206
= 5,206
OHIHE &H|
(98,8002 x1H*1521 )+(99,944 3 x 15 x152) 2,982
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A THE
2 A= EE

e II‘?D*XH%?;*% EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 2,960
Al 2
Od2=gitits 50,0002 x2& =123 1,200
ORRLY 50,0002 +22* 122 1,200
ONEIIEE RS
(3,448,730« 14 )+(3,489, 1202« 1) 6,938
o=+
140,000 1 x12& )+(20,0002 x 1H«127 )
1,920
Os=2A ditddi=
648,970 184652, 300% 18 1,302
04 JIZtN2Z2XNSE+ 25,559 24,937 622
ONBFUSHIA 0123
(78,880 8L +602! ) x50k 18,932
2 18,932
OMSFUSHEA FX14S
(78,880 8L » 132! ) x50k 4,102
2 4,102
OMgESSHZTA R2ELSE
78,8802 x8H x5 ) x50% 1,578
= 1,578
ONEFHSE LA ARt&
(78,8802 x8H +32 ) x50% 947
= 947
201 er23y| 74,538 74,538 0
= 74,538
01 At2telt] 74,538 74,538 0
ONE=EINA BE+=+=8(1.1/6.101F)
139,777,000& *50% 69,889
= 69,889
OAx2F 72¢ 1,929
= 1,929
O=gl 8,0003 x4 +85! 2,70
= 2,720
202 04| 4,484 4,484 0
2 4,484
01 2ol 4,484 4,484 0
OMGZASH SN XA 4,484
= 4,484
S T &2 5,003,623 8,781,041 A\3,687,418
22l 87,450 71,180 16,300
22 87,450 71,180 16,300
201 fet= 3| 83,300 67,000 16,300
01 AtR2t2|HI 78,300 63,000 15,300




A MED
LR BTI INEE
Celr sl AI2el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZaAN 2g+g
150,000 x7& 20 21,000
OZ4A & BRAF )
55,0002 %221 150 16,500
OF0l0l 2412 24 BDA M 3,000
OMREIN =4 L AE 442
10,000, 000& »23] 20,000
OZBA AN & NEALSE K| Z 0 14
30,0002 x221+ 1202 7,200
OZA TIoHE Y 2014 21
30,000 * 1202 3,600
OZ 4B A2 =S| 2,000
ONE0iIat delt & 2o 5 =l 5,000
02 S3=gHl 5,000 4,000 1,000
O3AAANSFA WEES BE82 5,000
202 04| 1,000 1,000
01 =LHOLI 1,000 1,000
OMBOIZ U 2A S BEAS BAS
& 1,000
301 EtE NS 2,100 2,100
11 dAMEEIXIE S 2,100 2,100
OZ LB AIRIE WS04 2,100
307 gl2to| & 1,050 1,050
12 IZ2HRIRAE =] 1,050 1,080
OZNZARE AEUSH HF
150,000 *7 & x13] 1,050
Hief2el 81,890 54,875 27,015
Her2el 29 81,890 54,875 27,015
101 @124H| 1,578 1,386 192
M ORNZZ2NSE S 1,578 1,386 192
OZIITHES AL RFID Ef & 22 J[2HHIZ
A+ el2it| 78,8803 x 1 »20 1,578
201 er23| 80,312 53,489 26,823
01 AtR2t2|HI 43,796 37,697 6,099
OASeRIEe 28+
70,0003 * 10272 4,900
O S2H| 5,000
OLictdt &=
2,500,000& ~12& 30,000
OFIIMSEAL HXIEH D (2HE)
3502 *10,000H 3,500
OFIIHES AL el2 ItELIA
99,0002 4 3%
2 35244l 36,516 15,792 20,724
OAerze|Z20d |AES
620,000& * 122 7,440
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| HITH &2t

2A: THE
=1
Al

X XH -

o™

of
i’
oF
uJ

or2r2)

=aak

-

KIO

Hlw

7,600

7,600

23,730,733
A115,400

A\ 123,000
123,000

21,915,333

HMEE
Ofl &k2h

16,940
16,940

360,940

8,655,016

6,000
6,000

338,000

338,000

3,594,076

Ofl &F2H

4,56
4,800
7,380
12,300
4,924,283
245,540
24,540
24,540

2,940
5,600
12,000
4,000
6,000
6,000
6,000
215,000
215,000
215,000
55,000
60,000
100,000

1,678,743

- HyS

- SRA(3) - HIRAEY

S - B

4+ 8

PN

0k
il

FAFE AL CHEE QHHAIAE

[¢]

,000& 123
o

HA

4T
=
=]

400,000+ 123

8 T

=]

[}

EDEH

0

SHEY XA AIAEN S

X

SH

XS SHA
HIOIX] HSFHZZIHAIA

=
=

01 AFR2t2ltl

OAl

o
i

8,000& »7E 100

2

2

3

1,500,000& +8
1,000,000 #4

70,0003 7 H+6
55,000,000 = 1CH

)

A

(AEH

Bl
’

|
t

F

INE=1:1DN

01 Xpatgd

"

405 Xt

Ar2te|
101 2124d|

I

_IO
Ho

[0

467
467
44,200
183,000

227,200

1,476
1,476
992,300
992,300

1,943
1,943
1,943
1,943
1,219,500
44,200
25,000
8,000
2,000
15,000
19,200
1,175,300
912,300

400,000

39,000

3

)

A

161,900 62 *2

Kl

i

FEIAIAE AL =28
o

2
e

OtEUHXE

PN

OJIZHZ2Z2XsE+

04 JIZtNZ2E2XSE =

01 AFS2t2ltl




SN HE D
S oA A2E
Chelr THat2el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-Al EAt 26,000
23] A 5,500
-E8ds 5 M 4,500
-7)2AB A 3,000
E<INESPIECE= ] 404,000
-Al ZAt 330,000
—2l3| A 60,000
-34S 5 M 6,000
) 2ABF A 8,000
- OIS FAL HHY HARS 29,000
- NS XA 3,300
N RE= 1,000
XSt 1,000
e=PNTelFS RGeS Satad=d 1,000
ASTH 282 35,000
OAIZZHl || 173,000
Al At 140,000
o3 A 33,000
Oxte Rl 90,000
206 M=l 20,300 20,300
01 MZH| 20,300 20,300
OMZHl 20,300
- A2 JIHANEES MY
4,500,000 * 14 4,500
- ZARE A Y ASAIEES AL
4,000,000 *14] 4,000
- ZARE ARGEIIES # JIEHA 2
2 5,800,000 *14] 5,800
- 23l AR JIHAEEE A
2,000,000 *14] 2,000
- OBl P AR A X ASAEES M
- 1,500,000 14| 1,500
CORlFARE ARY HIIES H JIEH A
A Endet 2,500,000& %14 2,500
401 AlZHIZ SO 402,000 2,580,000 A2,178,000
01 A28l 399,480 2,566,680 2,167,200
OFAL 23 A} 250,000,000 %99.28% 248,200
O202EAL & RFREA S& L=SA
100,000,000 *99.28% 99,280
OAIEAE NBHIH & &I 8IS A 40,000
OZ A AR HIE & ZSSA
12,000,000& 12,000
03 Al 20HHI 2,520 13,320 10,800
OFAL 23 A 250,000,000 *0.72% 1,800

_8_




2A: THE
2 ST

SRl THAR2tE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSABIEA X SEEA 24 Y=3A
100,000, 0002 *0.72% 720
405 KHoHFSHI 35,000 0 35,000
01 ML ESFSHI 35,000 0 35,000
Ol A stE4 )|
3,500,000 *10CH 35,000
=R 3,000,000 4,700,000 A1,700,000
401 Al HIZL S 0HYI 3,000,000 4,700,000 A1,700,000
01 Al&HI 2,989,200 4,687,310 A1,698,110
Ogs dIE=STHE HEAS
3,000,000,0002 *99.64% 2,989,200
03 A2 2 0HYI 10,800 12,690 1,890
LS WEHEXME A
3,000,000, 0002 *0.36% 10,800
HYE2AAHI(IHE D) 77,670 59,730 17,940
J1234I(JHE ) 77,670 59,730 17,940
Jl=ZBI(THE 1) 77,670 59,730 17,940
201 er23| 26,000 8,000 18,000
01 At2teltl 26,000 8,000 18,000
O=2| 8,000
Ogegt+=ZHI 18,000,000 18,000
202 04| 45,790 45,790
01 =LHOHI 45,790 45,790
OMEL HR2FA 0] 45,790
203 HR=H] 5,880 5,940 260
M EA2HER=AH 5,880 5,940 260
ORA2GYLET| 5,880




